52} 2IM E / Hexa Insert
o|2|o|g{Ato| =

S|ME 2l8o]H|5F0] 30% &kat
6L =It= ’B

Application(& &3 2|)

:

1. X}SAt: Module, Accessary, Component, Autopart, Tuning Part

2. &4 : Cabinet, Door Hinge, Assembly, Latch, Lamp, Antenna

3. MA} : Box, PCB Support, Handle, Accessary

4. 7|A : Control Box, Door Dandle, Accessary, Cover, Panel

5. 7|E} : Ladder, Display Application, Panel, Module 7 Assembly

6. Z1% : Door, Pipe, Guard Rail, Lighting, Stand, Frame, Alam System, Signboard, Fence

EALO|=
H
v
L Eol2gy
. Grip .
Thread Size Hole Size D F H P L Part Number
Range
M4 x 0.7 0.5 2 6 5.9 7.8 0.5 9.2 10.5 N3352-04200
M5 x 0.8 0.5 3 7 6.9 9.1 0.7 11.2 12.7 N3352-05300
M6 x 1.0 0.5 3 9 8.9 11.6 0.8 13.4 15 N3352-06300
M8 x 1.25 0.5 3 11 10.9 14.2 1 16.2 17.5 N3352-08300
M10 x 1.5 1 3.5 13 12.9 16.4 1.1 18.5 20.2 N3352-10350




S2MHa sZ AME
H
v sAl0|=
L
[ i
’ 2738 A
D
. Grip .
Thread Size Hole Size D F H P L Part Number
Range
M4 x 0.7 0.5 2 6 5.9 9.2 1 9.2 10 N3552-04200
M5 x 0.8 0.5 3 7 6.9 10.2 1 11.2 13.2 N3552-05300
M6 x 1.0 0.5 3 9 8.9 13.2 1.5 13.4 15.5 N3552-06300
M8 x 1.25 0.5 3 11 10.9 16.3 1.5 16.2 18 N3552-08300
M10 x 1.5 1 3 13 12.9 19.3 2 18.5 21 N3552-10350
M12 x 1.75 1.5 4.5 16 15.9 23.3 2.3 23.6 27.8 N3552-12450

2-8




